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(1) Use of simple calculator is allowed.

(2) Graph papers will be given on request.

(3) Figure to the right hand side indicate marks of the queston.

State probability mass function of Hyper geometric distribunon Stme s
properties. 4

OR

State probability mass function of Poisson distribution. State 13 propertues &nC
uses.

Using Poisson distribution obtain the expected frequencies for the folicw =g daz 5
(e = 0.5434;
2|

x Jo 1 ]2]3;
AR ERERR
OR

For a Poisson variate X If 2P(X = 1) = 3P (X = 3). then find 113 parametex and
P(X <2).

S

(¢! =0.368, &2 = 0.135)

A basket contains 2 dozen mangoes of which 3 mangoes are rotien. If 4 manpoes
are selected from the basket, find the probability of having a1 least one rodec

mango.

th

OR

There are 40 students in a class out of them 10% students are taking miterest n
sports. If 3 students are selected one afier anc_ather ﬁnm this class. then find the
probability that 2 students of them are taking interest in the sports. Also find the
mean of students who has interest in the sports.

State the probability mass function of geometric distribution. State its properses

and uses. 4
OR
State the probability mass function of negative binomial dismbution. State s
properties and uses.
5 P.T.0.

GujaratStudy.com

wod Apmgierelnn



(bj' Thc probab,hty that a person can hit a target

(c)

3. (a)

Q
£.
vl

: ®
L
o
s
<
)
<
=

4. (a)

(b)

NG-102

GujaratStudy.com

in any toial 18 0.7, Fid the

Probability that a person can hit the target third time at the cighth ).

OR
I : a lot of apples there are 20% are sour. Find the probability that 4 persin gt
third sweet apple when fifth apple is tested.

In an objective test 3 alternatives are given in each question and of them only one
is correct. A student ticks any one of the answers at random. Find the probability
that his 1™ answer will be correct at 4™ trial.

OR

A person tossl;hcs an unbiased coin continuously. Find the probability of getting ¥
hcac.i at the 9" trial. Also find the mean and variance of number of failure before
getting 1" head.

Discuss the causes of variation in production process.

OR
(i)  State the difference between variable charts and attribute charts.
(if)  Explain : Theory of run.

Draw X and R charts and state your conclusion from the following data
[A,=0.58,D,=0,D,=2.11}]

] T T ;

R | 238 | 254 | 245 | 252 | 256 | 241 | 244 | 248 246 | 250 |

T T !

R [s[of3|w|mn]olsitarizia!
OR

Ten samples of 100 items are taken daily for 10 days. The number of defective
items are found as follows. Construct a suitable chart and give your decision.

No. of defuctive items : 3,6, 10,5,8,14,12,6,9, 13

Explain (i) AQLand LTPD
(i) AOQand AOQL
OR
What is an Operating Characteristic curve ? State its properties.

For a single sampling plan (40, 10, 0) find producer’s risk and consumer’s risk if

AQL = 0.05 and LTPD = 0.1.
OR

For a single sampling plan (8000, 400, 1) find the value of AOQ and ATI when

p'= 0.5%.
(e2=0.1 353)
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(©) Ina lot of 10,000 units, 200 units are defective. If single sampling plan is (10000,
100, 2) find average outgoing quality (AOQ). 5
(2= 0.1353)
OR
Which plan will you prefer out of the following two plans ?
Plan (N, n, C) Pa P
1 (1000, 200, 2) 020 0.015
Il (2000, 100, 2) 0.67 0.02
Answer the following questions : 14

(1) For a Poisson distribution if mean = 4, then find P(x < 1) (e =0.0183)

(2) For Hypergeometric distribution m = 4, n = 6 and r = 2, then find its mean and
variance.

(3) In a Negative Binomial distribution if mean & variance are 24 & 96 respectively,
then find its parameters.

(4) For geometric distribution if probability of success is 1/4, then find its mean &
variance.

(5) InaC chart if € = 12.4, then find its control limits.

(6) Which distribution are used in acceptance sampling plan to find probability of
acceptance ? When ?

(7) Explain single sampling plan (1000, 50, 3).
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